+

o
*KINDLY CHECK ALL THE FITTING BEFORE START ASSEMBLY

Q) PVC CENTRE HOLDER

Fix the Centre Pipe with M6 x 40 JCBC Screw &

Press PVC Side Holder & Centre Holder
to the Hole, Lastly, slot in Bend Woods.

F I

Tighten all the screw with
Ailen Key.

M8 Hex Nut.
> pavi usT G
| ©).M6X 20 JCBB SCREW Bpos [1) HEADBOARD METAL PANEL 1 pos
© M6 X 15 JCBC SCREW ips wg (2] FOOTBOARD METAL PANEL 1 pos
® M6 X 40 JCBC SCREW 2000« [?BDE'W- :s:
| Qm.wsxnu'r - (5] HORIZONTAL PANEL 2 pos
- MAALLEN KEY 1P0 o
© PVC 8IDE HOLDER Bpa <7




